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the last emigrant
the last import yy 43 mm 2 dd28 hh 2 mm 53 ssmmm 53.967



43 years ago, the last human to travel PR
- to another celestial body left with the = - -~ 5‘9 ol 5
. last minerals - why is it the last? et A e /I 5 %

5 I
' .
Ay i

‘Because transporting 12 humansto  © © = f ke SR ;
the moon, bringing back 382 kilograms | :_ e L
.of rocks 1s considered “humanity’s

' - | ears

-greatest technological achievement” - y 43

. 'BUT it was fantastically EXPENSIVE: mont;hs,‘- Vit "' :

~ humanity’s “greatest commitment of - .) days. 28 ks
- resources ever me;tde h pe_ace_:timg’,_ .. -_: : houl:s..' 2 e 255
L e— seconds 53 967

smoe blast-off
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~ If the entire Gross World Product for 1972 were spent. -
..~ on nothing else - causing nearly everyone, 4 billion to
. =die - only 4,182 humans could go to moon like the 12; .. .-
. getting a 6 hour 45 minute walk, a 15 kilometer lunar:
... rover ride, bringing back 32 kilograms of rocks each. . -

Y2 , ., Because of the stupendous cost, it 1s very likely -
" humans may never journey to another celestial
“ body again - this has profound implications:

_Earth 1s CLOSED MASS: no emigrations, no
. 1mports possibly forever...
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- 4,182 join the 12;
4b11110n die _af
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" toEarth-maybe . .-

There is 1 “Sample Return”
Mission planned by China:
after 45 years a small 2 kg
of Moon rocks will be added
to NASA’s 382 kg imports -
maybe.
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There is no Human Mlssmn :
planned to. an Astermd, no
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| ﬁ“ o S 60 g to 2 kg Aster01d rocks 1mp0rted
e to Earth in 7-yeays - maybe

. ‘Thereis 1 Asteroid Sample Return Mission
!« planned by NASA: 60 grams to 2 kg of rock

: 1mp0rted to Earth:- 7 years:round trlp ata
£ cost of $1 bllllOIl plus ‘



There is no Human Mission : = o ' ? ""! _
= b

planned to Mars, no "\': o
emigrations. UL _
e ( /
' NS
ﬁq Mars
’ & Science
.  O:10)
L Curiosity

There is no Mars Sample Return
Mission planned, no imports to
Earth.
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3 million kgs to return S thousand kgs does‘not exists today or is planned
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566 to 1 is the WéTEhf ratio of the Saturn V
rocket at blastoff to égp Command Module

at splashdown. The ndous power of
the Saturn - which put humans on another
celestial body —“haspever been and may
never be equaled.
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In power, propulsion, payload (to low earth
orbit) humanity is in regression - 43 years
ago may never be equaled, the cost in
mass-energy resources is enormous.

Rocket - payload - height - year

Saturn 140,000 kg 111 m 1972
Shuttle 27,500 kg S6m 2011
Soyuz 8,200 kg 46 m now
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Shuttle
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Soyuz
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RSy Escapmg cIosed mass* -even just 400 .1{1lomete1:s up 1s extremely expenswe ;
vt i T he Internatlonal Space Statlon”ls the most - A :

o costly item ever constructed, $150 billion. _'

.. The pressurized volume is only 916 cubic
‘meters, the size of a largish house (below),

o full occupancy is only 6 pe_ople.r
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The prorated cost per person is '3 people crammed into 4 cubic meters. -

',‘l ...:~$7.5 million per day, $2.7 billion = The price per person round trip is
.» per year. The small Soyuz (right) -~ = $76 million - $95,000 per kilometer - - |
~is now the only Station transport - * . :the most clostly journey on or off Earth.
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\ "‘ 8 At $301 million for a month stay,
g the Space Station is extremely cramped “3Sas

"Ny SN M and spartan - this was not predicted... TP
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SPACE COLONIES were
proposed by scientists -
until 43 years ago when
the extreme cost of
extraterresterial

‘'was realized -

‘none have been -

. proposed

since.
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i ‘L-a_st manned
~ .spaceship.on’
another ce‘lestlal
body, is thls
A ' end, w1ll
-:3'  there be -
4 no more" S

Closed mass reallty, compare the last emlgrant’s tmy, -
: frag1le~, t1n-fo1l spacesh1p w1th popular commumcatlons... -\
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Humanity -
now lost in
open mass
unreality?
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These are space ships and stations which 1960’s scientists thought would be in existence in 2001!
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' Extreme popularity - * #,
. emigrants, imports, warp drives, * &

galactic spaceships, beam up and down...

— . '-—_.-—— i
Humanity - lost in open mass unreality? _ —E-_.
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All-time most popular -
imports, emigrants,
avatars -
only 138 years
from now
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Humanity - lost in open mass unreality?



230-years zig(;:

 the beginning of the’ e .

.OPEN-MASS .
INDUSTRAL AGE
--powered by
combustion
" engines.
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o N Humanity has only managed to reduce |
emitting energy 8%, today it is 92% tpes. * .. "
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“““ (’) By 1900 non-emitting solar cells, wind turbines,

W I hydro power, geothermal energy and hydrogen

I fuel cells were all in use - and there were more
SOLAR WIND HYDRO GEO electric cars than petrol cars in America.

After 116 years
non-emitting solar- E
wind-hydro-geo P

energy is now
only a tiny 3%
of total primary
energy supply.
Humanity - lost
in open mass
unreality?

Lifetime guarantee



60 years ago in 1956 the first industrial Non-emitting nuclear energy peaked at

scale nuclear non-emitting energy power 6% of total primary energy supply,

station opened. and now has fallen to 5%, largely
replaced by coal, the most emitting
energy.

*
T\

ey

)

e N P

- l a

- — i ' H o . . 9 o
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65 years ago in 1951 nuclear fusion - nuclei
colliding to form a new nucleus and release
energy - was demonstrated in Operation
Greenhouse. 65 years later there are no
fusion non-emitting energy power plants,
and none planned.

Humanity - lost in open mass unreality?




Today, emitting climate changing coal-oil-gas-bio
is 92% of total primary energy supply, and rising.

92% of energy
is emitting,
Bio energy as practiced is not sustainable with emission, pollution and health hazards climate changing
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~ UN: “By 2050, the equivalent of 3 planets could be_requlred.;gprovgde
~the natural resources needed to sustain current lifestyles” - 1970: 1 planet.
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. RECYCLING
CAN "0 BE THE

C:losed Ma'ss': S

. .SOLUTION
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“Recycling cannot be the solution to closed, _ _ % il
mass. Net recycle rates are necessarily small * . . © . . s
because of the mass-energy required to recycle -~ -~ Recycle.- humanity, lost, "~ .-
and the laws of nature including entropy. ., % . in'open mass unréality?
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RECYCLE \
IS THE - Humanity - lost in
SOLUTION ~ open mass unreality?










REALITY
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Humanity - lost in
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Humanity - lost in open mass‘nreality?
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Sustalnable human development :
& IMPORT 1 space cargo sl'np arrwes o .

on Earth every 48-seconds with 5,000 co.n- Fadh A : £

tainers - 3.2 billion containers 1mp0rted -,..---3 g _'_ S ey iy -

-each year to make current eonsumptlon s’ S --'_i-_ AR .

- sustalnable (vs 382 kg moon rocks): - '-_;_ £ VO - R ' NS e g R ! 1

'EMIGRATE 1 space ferry departs Rt LY B Pl e B R

Earth every 7 minutes carrying . " SR B SR AT P T

- 1,000 people - 80 million : RS Gl L e R e T R R i A B R IR
_ emigrations eachyear = TR e Ly T T e B
~.tostop'population. - . s N :
from increasing AL '
(vs 12on m"oon)_.-

- 1972.12.14.22.54.37
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L emigrant

Y 43 mm -.2.-d_dr_'2.8 hh' 2 mm 53 $s.mmm 53,967
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It’s foolish to even discuss 3 earths - fﬁlpofts from or emigrations to
- other planets may never happen - deal with the 1 planet we’ve got now.



\ Atmosphere
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There is only Climate change

1 atmosphere, has only 1 cause
emissions from anyone and only 1 solution:
anywhere become 1 mix of greenhouse gas concentrations

atmospheric gases that affects all. in humanity’s 1 atmosphere.



Climate change - humanity’s greatest ‘achievement’

212,3900,60
-

of climate changing emissions since 1870.

Blowing up 1 Eiffel Tower every 8 seconds

is the current rate of global emissions - every
every 8 seconds humanity’s CO2 emissions 3
seconds

equal the weight of 1 Eiffel tower;
About 100,000 Eiffel Towers every 9 days:
1 gigatonne, 1 billion tonnes CO2 every 9 days.

Climate change is humanity’s greatest ‘achievement’:

all global construction plus manufactures weigh about
gigatonnes per year, all emissions weigh
gigatonnes: destruction is greater than construction.
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B The line is long lived In the last 35 years atmospheric _
B atmospheric greenhouse energy imbalance (more in than g
35 | Meteorsiogical gas concentrations which out) has risen from to |
Organization - because of man-made watts per square meter radiative
a emissions - are relentlessly forcing — a huge increase.
S rising unabated, and at an
g [ accelerating rate. This is the equivalent of < Hiro- 7
] . . w1
E - shima atom bomb explosions —18
30 | every second now, —
g Hiroshimas every day, a monu- Py
o | mental amount of heat added. |5
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Meteorological Organization, ni
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the world GHG authority.
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B A result of the tremendous
i energy added is that
World average global temperature
3.5 — Meteorological . . R
Organization increase above pre-industrial

= | levels (global warming) is now
§ B locked into the atmosphere.
‘E')’ -
g L Because of potential catastro-
30 | phic irreversibilities scientists
v | recommended no more than
e -
g
Q- —
§ oS which is the surface global
- eg’b% warming we have today.
25 | 0\\‘5
o N
£ L ©
: S
8 O
< O
5L S
5 \S
€ |
20 |—

| ViAo glébal average

"'1 c temperature increase
iy i :
1.5 | | | x |
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emissions per year (CO2eq/yr)

Greenhouse gas CO2eq

Years



- World
3.5 — Meteorological
Organization
= o
£ L N\
£ O
= 60
Fs S
g A\
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©
Q
30 | <
v |
S
3 L
2|
g S
r be%e
25 | P
\(\0
g g(\ o o
S [ Q‘% IF man-made emission trends are
L (2,6 :
v | %\\* held constant, global warming
B - N will be locked into the atmosphere
| in just 19 years, continuing on
20 — past .
i Are global emissions going to go

up or down, what is the intention?

1.5 E | | | | | |

1980 1990 2000 2010 2020 2030 2040 Years




PP QN - 2
¢ C N D lited Netions
Wc) o
BN EN O0vis 2075
. United Nations O/
T Rt 11?/75667%6//2(5
_r Climate Change e
E L
=
R : Q\O\\%
15 QP
E 6%
3.0 (\&b
0 — \ &Q,
Z | This data is from UNFCCC
& | the world authority on
2 global climate &
T a t ¢
. greements. &
2> — &\0 Global emissions will increase
= \Q’e . T
= @6% with no “peaking” and no reduc-
= L (\Q\\* tion until at least 2030, rising from
> . .
B L \® gigatonnes of CO2 equivalent
© . .

& | in 2014 to GtCO2eq 1 2030.
20 | UN 2015 Climate Agreement By the science emission limit, after
B intentions are that the relentless 2030 humanity can emit only a
i rise in greenhouse gas emissions further GtCO2, and limit

will continue unabated for at global warming to below -
least the next 14 years. which all nations agree is the goal.
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2 & In 2037, dangerous will be locked into
s L \(\0\\% the atmosphere - causing a billion refugees,
25 | Q‘?’?}\ millions of deaths and potential catastrophic
= \\@6 irreversibilities - continuing past , the
sl \,0‘\q end of human life on earth as we know it.
()
2 - -
E -
&c B . .
2o [F the annual emission rate
Sl of 2030 1s held constant,

" an unprecedented action -

v the remaining limit of : =7

4 =o global average

GtCO2 will be emitted in : c temperature increase

u 110% e _ s
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Radiative forcing in watts per square meter (W/m2)

1990

3.5-

2.5-

Best global media 2040

Nations approve landmark climate accord

in Paris Neww YJork Times

Paris climate deal, nearly 200 nations sign

in end of fossil fuel era gual‘dian

Paris climate deal'is 'best chance to save

planet' E E

Even “the world’s best” media communicated
victory, success, optimism, hope, achieve-
ment, security - is the public well served?




In politics and press, baseless optimism and unjustified
hope dominate, lulling everyone into false security and
inaction - when the opposite is urgently required.

, l:llTAgreement
Optimism,
Hope,
Security

4




_ Climate change
will'destroy .~ -
our_children’s - -
futurq because-u—b-

oo Hnothmg is being St ==
d_q};g to stop it. 5o

s :--_-.
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¢y Paris Agreement: 2°C plus will cause a billion refugees
/ completely destroying civilization everywhere.
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o Cause - Solution

35 |—

-

g -

=)

s

()

E -

30 |

v |

5 | 1 cause D

& | 1 solution:

§ greenhouse gas The science solution to stop catastrophic

[ atmospheric is simple, directly address cause

25 | : S

o concentrations o now:

5 Q"o%%

S O e . . .

"§ = @‘25\\(\ Emitting coal-oil-gas-bio energy is the

E - ‘ \\ng principal source of climate changing

e | o‘\q\\ greenhouse gas atmospheric concentrations.

\

20 |

i Coal is the most emitting fuel followed by
oil, gas - and bio energy which as practiced
is not sustainable with emission, pollution

B and health hazards.

1.5 | | | | | I

1980 1990 2000 2010 2020 2030 2040  year



35 |—
§ B The most efficient, effective,
5[ rapid science solution to stop £ £
£ - climate change is a on £ g . g
o g0 . . coal” gas ¢ A
30 — emitting coal-oil-gas-bio energy 29% - - 6
v | now. |
s &
s &
2 | @
,; — rb%e’ ’ /6:9/
9 4 9
25 | O\f.) TS Ay /o
g - \Q,%{\Q An average global emission 4 ’02/0/;(»)
S | ‘@50" reduction now of only 0.49% IS /7/)0
g \N c . o ’\@0
£ | \,0‘\(5 per month will avoid 2°C. & 7o
S 0
Dr:c * ' * % ’ '0&/'
~ ix «E—ﬁ;:;:;.:ﬁ: {* 5 'S /)70/)
20 | =—Jls 4 ”/(5
- With the global economy and 4 o
v trade, if a major nation leads R
4 all will be forced to follow - avzoidi q
o cause a nation to lead now.
1.5 | | | | | I | |
1980 1990 2000 2010 2020 2030 2040 year



CLIMATE CHANGE

is caused by greenhouse gas atmospheric concentrations

212,399,578,670

These are humanity’s climate changing emissions put in the atmosphere since 1870, they
will cause global warming - and are rapidly increasing, 1 gigatonne every 9 days.*

~787,600,418,219

This is what science concludes humanity can still emit and stay below global warming.
If nothing more is done than the Paris Agreement, will be locked into the atmosphere
in 2037, only 21 years, then on past 4°C, the end of human life on earth as we know it.*

757,973,612,699

This is the average global emission reduction rate per month required to stay below ,
increasing with inaction. Global and national GHG emissions are estimated every few months,
the %/mo will be adjusted up or down with action or inaction - setting the emitting energy tax rate.™*

*IPCC, >66% probability, cumulative emission limit for 2°C: 1,000 GtCO2 in 2011; with intergenerational equity, excluding unproven negative emissions, no overshoot, warming does not stop at 2100. HSfound@gmail.com



16% of humanity
cause
;. 61% of emissions’
T~ and are 988%
' ":"JF - over limit
e for 2°C
X1

Low Developed:

X 35%
17% of humanity \ 4 \ 4
cause only 61% 31%'
1% of emissions’
and are 44% 2% ﬂ 7%
of the limit \4
for 2°C 7% 1%
ofhumanity: [ Medium Human Development 32% of humanity:
Human Consumption emissions | cap / year Consumption emissions 1.& tCO 2/ cap [ year
of consumption emissions, over limit for 2°C, 2% of consumption emissions, 147 %/ over limit for 2°C,
Development of cumulative emissions, per cap 7% of cumulative emissions, 4= 02 per cap
and [l High Human Development 35% of humanity: [ Low Human Development 17% of humanity:
Emissions Consumption emissions 5.6 tCO2/cap/ year Consumption emissions 0.5 tCO2/cap/ year
42% of consumption emissions, 456% over limit for 2°C, 1% of consumption emissions, 44 % of limit for 2°C, ~ "Cumulative emissions

Per Person

th f
31% of cumulative emissions, 171 tCO2 per cap 1% of cumulative emissions, 10 tCO2 per cap 2{.?.133;%?:;?;:



Reducing emissions by 2000, by 2010, by 2020, Specify emission reductions per mo
by sometime in the future has not succeeded. now for 2°C, increasing with inactio
18_1.2965,390,571,100 o, L=
17 — ° 9 5939 957 b /0= V)o Emissions per capita tonnes CO2 per year*
2] % per month emission reduction O United States  17.5 Very High Developed 12.6
g 16 required for likely 2°C now European Union 9.3 High Developed 5.5
- ) ) R, ’ China 5.8 Medium Developed 1.8
g; 15 Increasing with inactior India 1.7 Low Developed 0.7
1 Humanity 5.0 Humanity on-limit 1.3
E 1 4 *emissions from consumption of goods & services
11]
13 0 9 Very Development High Medium Low
-U.Y 477,028,559,060 9/, i
12
11 -
i
1 0 o ***
-().6904,142,233,826 o, i :
9
8
7/

6-().4195,740,889,924 o, *

Global emissions Gtco2lyr

wW B~ O

annual tonnes per capita CO2 consumption goods-services

f -0.0502,294,064,8669,
o 10.2245,000,077,496 9,
1995 ﬂ 2015 Time 2035



EU’s intended emission reduction delays 2°C by 1 day per EU country

* EU’s intended emission reduction for Paris * In the last 25 years, EU28 emissions from
sounds huge - “40% emission reduction by 2030 consumption of goods and services (efficient
compared to 1990 - calculated it is extremely cars, appliances, etc.) decreased only 13%.
small, 4 GtCO2. Per EU country this amounts « At the same time EU emitting coal-oil-gas-
to only a 1 day delay in the onset of 2°C global bio energy decreased only 4%, and is now
warming. 1 day delay, by the highest developed. 82% of EU’s total primary energy supply (tpes).
* To be on-limit for 2°C, Europeans should « EU non-emitting nuclear energy is 13.9% tpes,
reduce their emissions now 0.7% per month, solar-wind-hydro-geo energy is only 4.2% tpes.

the average for the last 5 years 1s (.1%.



L

r 1_'. ——
o 'I

To avoid 1 gigatonne of
humanity’s current 39.9
gigatonnes of climate
changing CO2 emissions

per year, requires installing

about 3 billion solar panels

of this size and efficiency

rotating to follow the sun; *
if fixed and inefficient it can

take up to 15 billion.

With 1.1 billion Africans:
for =1 gigatonne, install 3
to 15 panels per African.




To absorb 1 gigatonne of emissions,

To absorb

plant 108 billion trees - an area the size 1 gigatonne of humanity’s

current 39.9 gigatonnes of

q‘ ’ of Tanzania climate changing CO2 per year

o : requires about 0.9 million square
} N ) N
L ‘xl _ 3 kilometers of new trees* - an area
\ v ,' It - gl the size of Tanzania -
o | A\ . !
N ", about s

Ve | \ \} 108
A : C an ae SR pillon &

e i Ry trees.
. el o { i e | —
T o ) ﬁ W SNUNONTRGLE 22 47 o
:'r.-.r'i""‘*f e *#"7} *E" i ELL 4 : f L., '

I " iyﬁ use, averaged

# over 20 years,

trees > 5 cm
dlameter




In 2015 on
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500 Europeans 1 refugee

S billigh ngn-Europeans

today

Eastern
Hemisphere

2°C+ global warming will cause
about a billion climate refugees

Today 5 billion people could essentially walk to the EU

The Paris 2015 UN Climate Agreement intentions are no emission
peaking or reduction for at least 14 years, with dangerous 2°C global
warming locked into the atmosphere in 21 years, and rising.

2°C+ will cause about a billion non-European Southern Eastern
Hemisphere climate refugees: for every household of 4 Europeans there
are potentially 8 refugees, either to be taken in or (somehow) kept away.

2N

4 Europeans 8 climate refugees

To stop climate change and a billion refugees is simple: address
cause now. Climate change has one cause and solution, green-
house gas atmospheric concentrations. Ban-tax coal-oil-gas-bio
emitting energy now, the principal source of GHG emissi

CAUSE TAX - all subsidies removed ﬂ

Ban / tax the principal cause of climate change, emitting energy.




CLIMATE
CHANGE

will destroy
your grandchild’s
future because
nothing is being
done to stop it -

BAN /| TAX
coal-oil-gas-bio
emitting energy
NOW.



What kind of
world will
we pass on?

My child, when you’re just 27
years old, 2°C global warming
will be locked in the atmosphere
by emissions - nobody’s going to
stop it from happen. I’m passing
on to you a catastrophically
compromised world - I’m not
going to tell you or help you,
I’m going to enjoy my life.

Change this now:

Tell children, tell everyone: by our
unabated, relentlessly rising climate
changing greenhouse gas emissions
we are passing on:

dangerous 2°C global warming locked
into the atmosphere in only 21 years* -
causing a billion refugees, millions of
deaths and potential catastrophic irrever-
sibilities - continuing on past 4°C, the
end of human life on earth as we know it.

The solution is to directly address cause
now: ban / tax emitting coal-oil-gas-bio
energy, the principal source of emissions.

*UN Paris 2015 Climate Agreement intentions






BAN / TAX
coal-oil-gas-bio
emitting energy
NOW.
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= Homo SaBiens Report

Thought experiment -
let's suppose that
all the land on planet earth...




= Homo SaBiens Report
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is put togethér by the types of
land - and here they are, in an
11,000 kilometer square... *

L]
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The most important areas for humans
are 19% crop and grazing land, 2.5%
fresh water, 24% forest, and the
whole periodic table of elements -

the natural Resources. Now if all
these land types are divided equally...

L]
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= Homo SaBiens Report

Each of 7.5 billion humans gets — .
equal land and fresh wate.



'. Homo Saﬁens Report .

B[Ma[ e | =]
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< ? kilomeéters, ?? meters per person > * © e
. . * < ? miles, ?? feet > 4
T - - L] - -
How much land would each i 4= S ™

human get? . ) .




'. Homo Saﬁens Report

Each- of us would get LESS THAN 3 football
fields of land and fresh water, less than . -

140 by 140 meters total. Our “fair share” is =
not very much. Here is why: ; .



'. Homo Saﬁens Report .

[Mgy Al {
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. ®< 140.meters > . e |
- - ‘
First, out of just 30 by 140 meters .
of crop land, grazing land and fresh X . . * . . .
water each of us must getall of . ) . :
our food, all of our water. Then... , .

- B ] [ ]
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- - - - .
. e )
- &
- 2 A
L] . _:, LI — -.;:';T_Ff,ﬁ_ . y i . -
- e T At | .

r—_'-
14x35
meters

-
Out of our 3 fields we must get ALL the ° Z
natural Resources required to make ALL
our Products, including our House and & ! . i o = :
everything in it; all our Transport, our -
bicycle, our automobile and its fuel... .

L ]
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~ grazing/cropland 28x56 meters L
- : 1,‘-' v

=
. =T

-

e 2

Out of our land we must get all the i £
Resources to make our share of shops

and all the Products in them; our share . - .

of roads, bridges, tunnels, pipes, wires, =

polls, sewers... ; x

L ] . ‘ .
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...the materials to make our share of
offices and schools and everything in . - . . .
them; our share of trucks, trains, ships, ) [

planes, military equipment... .

- 1 L]



'.. Homo Saﬁens Report

e L
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...our share of industries, factories, Product
manufacturing; our share of mining - extrac- ™

tions of minerals, chemicals, metals, fossil o 3 - A
fuels, wood, biomass... The total includes - . =3

our share of ALL Resources and Products,
including from the seas...

L ]



Our Fair Share

The seas are twice the land - so our
share is 6 fields of ocean - but humang

get only a few percent of Resources
and Products from the seas, and as
we'll see this will not increase...




Homo Sapiens Spacetime Perspective
13.7 billion years - Universe

4.6 billion years - Planet

3.8 billion years - Living Organisms
13 million years - Family Hominidae
130,000 years - Species Sapiens

Homo Sapiens Development
1> 130,000 years: Hunter-Gatherers
2> 12,000 years: Cultivator-Herders
3>

I
last 230 years

A



3 variables HP R

First , the making of Humans:
> 130,000 years ago Homo Sapiens began

and by 230 years ago just before industrial-
ization, there were only 800 million Humans,
a number which - given R, the Resources of
the planet, was and is sustainable.

Alast 230 years



= Homo Sa_plens Report - > - future: !

. . . .
> 230 years ago “a wall” rose, like a |
rocket going straight up, in 230 years i . .
human numbers exploded 9 times, : = .
today there are 7.5 billion humans. :

THE WALL®

> |f such growth continues, can there - = * L)
possibly be enough resources for @ . ; o g ) .
survival, let alone happiness, quality o
life with high living standards? . P . ,

130,000 years agc; Homo Sapiens began .
v 3

130 120 ([ 100 .9 80 70 60 50 * 40 30 20 10 A
thousands of years ago : _ Homo Sapiens timeline 130,000 years . SRS



130,000 years to increase from
making 1 product unit to 2 -
sustainable

>

Second , the making of Products:

> 130,000 years ago when Homo Sapiens
began, using only their muscle power and
food energy the average human could
make 1 “Product unit” per unit of time.

> By 230 years ago using additional anima
muscle or wind or water mill power, the
average human made 1 additional “Produc
unit”: it took 130,000 years to increase
from making 1 Product unit to 2...

Wind
ener 230 years ago
,e: gg;j o sustainable
9y Muscle Food
# 2 energy
Water
energy

Muscle

last 230 years*
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present: 220 preduct units made >

\4
24
AL

YAy

A CO :

o
A

AS=(AU+pAV)/T=AQ/T = o < ‘\‘ Y,
130,000 years to increase . 7 \) VO Y N
from 1 product unit to 2; ; - " " b4 4 -~
230 years: 2 to 220 increase , - Q!
= unsustainable ;
. -
I
-
-
a " L]
i . #
Beginning 230 years ago an even more g
awesome wall rocketed to unimaginable A
heights as new, giant engines, motors
and turbines powered by coal, oil, gas, W
uranium, biomass, sun, wind, water, geo- 3 d §
thermal were invented and set in motion. 8
.> The Revolutionary Industrial result is 3:..

that today in just 230 years, Product —

making - and Resource degradation -
exploded an astonishing 220 times.

> This growth rate is not sustainable.

> Using non-emitting energy will NOT
solve the problem. Using ANY form of .
energy, Product making diminishes
material Resources because of the

laws of nature including entropy.

P - 130,000 years ago: 1 product unit made -

I I _—_______ﬁ<present

130 120 " * 100 90 80 70 il 50 4 *30 2 10 Alast 230
thousands of jears ago : . Homo Sapiens timeline 130,000 years - el

THE WALL

ars ago: 2 product units made > g

230 ye

y
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This year
80 million humans

Human numbers are increasing. We i é " ™ .
are now 7.5 billion - and a stunning " * . 1ain, 1.:
80 million humans will be added this . rSROWEEe.arE ToFEreasin : ”/
year, and 80 next year and the next. : h - 9 of Germany - _ ]
> |n about 40 years, human numbers - T— v ,W’th "f’

discussion.

will increase by not 1 billion, not 2... b



.. Homo Saﬁiens Report

Human numbers will increase by about
3 billion, maybe 4 billion - about a one- :
third increase in human population; = ' v .
which means that... | o



'. Homo Saﬁens Report
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We will loose a third of our cropland,
a third of grazing land, 1/3 of our fresh
water, 1/3 of our forests, minerals, . :
1/3 of everything, every resource - - . . . .
even a third of our share of sunlight, 3 .

in just 40 years. But...
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1km u;rderground,

5 km of tunnels
for lowly copper
Cu29

1)

o~ T ._._ - . S ™ - Ir I | |.'II | l. A iy -. I |
e e Sy N M b b
n..q" 2u L . i .

To make Products we extract, degrade,
lessen and loose into the seas mineral
and biological Resources. We stripmine
our planet, depleting the reachable upper
earth crust of metals, fertillizers, soils, the
whole periodic table of elements.

And: every year as humans mine ever .
deeper, it takes ever more Materials and «
Energy to extract ever fewer Resources.




« Homo Sapiens Report = : " ! .
| : - Y £ - : - .
L v resources are decreasing Q T "o :
: [ ] ] : 'l:'r‘; .._'lp-n H = T T v - “ -
¥ = x J‘: ..' -3 - : -. ¥ . % i (r b i
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=Thk=. ralit=x=% .99 0D
L1k s - the asily accessible has been / will b

.-‘l;,,,ﬁ 3222,,9 :: ;&' 5] 288 1993:0 ] ® > In 40 years so much of every easily
Y & - reachable resource will be diminished
that, compared to today, it will take
at least double the energy and
materials to extract the same amount

of resources - if they still exist. So...



- Homo Sa&ens Report e * present: 220 preduct units made >
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" v( resources are decreasing ‘O
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Remembering that it took 130,000 _ % ; ?
years to increase from making 1 . 8
product unit to 2, here are the 220 4 ’ : a5
product units of today... “ E : - - .
- 3 - “ B -

‘ e\ \T
] - . A ﬁ
L
5 - ‘ ’ = ]
- - 230 years ago. 2 product units made > g ) ‘

p < 130,000 years ago: 1 product unit made " 2 . - ’
I I ._-________—< resent Ll
130 120 Mo 10 ] B0 ] 00 5 40 » 3 20 10 A ,5 st 230 years

thousands of yearsago : . Homo Sapiens timeline 130,000 years .



Simple math shows that 40
years from now Products
will quadruple, increasing
400% to an astounding
880 units. So...

Q

A 130,000 years ago: 1 A 230 years ago: 2 units A present: 220 units 40 years from now: 880 *




present

155 m)
field® ¢

CLOSED MASS.
e this can’t continue
it will destroy everyone’s future!
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Terrestrials take the Earth for granted,

Extraterrestrials cannot. : .
> For every 1 kg of anything brought ; \'\ .
up to the spacestation, 80 kgs of .
mass-energy are required. .
> 1 day of solid food for 1 astronaut ; =
takes 47 times the energy in the food . 3 -
just to bring the food up to the station. £ -
. . —
N = . -
-, closed mass [ ]
wr -"'. - ™ 3 ]
:'. » v ..‘... .
i SR : ‘e
: . m ".’\ g
A 7 -
1.” r 1 ‘
L l -
L o ¥
- . » - *
. = . 4 nothing can be taken for granted
* = i [ % 3
e = 1 L
] . - -
: i . to
. ' - - 47
" ¥ &
" M . A ..H 4
- ‘ ¥ - .I
L] [ ] =




Problem

+P+H=R
Solution

-P-H=R.

These extraterrestrials.have learned
a great deal about hum rvival
and happiness - in the finite environ-
ment of a spacecraft, and down on

#

planet earth... %



+H = overw

130,000 years agc; Homo Sapiens begin
v X

thousands of years ago

-H SOLUTION

1> Global contraception: -H: fullfill
desire for fewer offspring, end all
unwanted pregnancies, presently
only half global are.

- 2> 0 or 1 offspring +R+P / H: more
resources per human for a better,
happier life and future - resources
are limited, diminishing rapidly.

3> 97 offspring instead of 100 -H:
« With a global growth rate of 102%,
3 less and the “Pop will Drop”.

80 70 60

.DANGER: RESOURCES DIMINISHING PER HUMAN >

+R +P
TH.

230 years ago *

800£1illion humans

m— <)reSeNt

"_Iast 230 years
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. GLUBAL ﬂ i ’
POL.CY
“There n ust Science
be ever mcre technology
offspring: t_o work, R
to pay pensions, to L fobats

support their parent’s ret.vement.”
.

The above

is nonsense: L

1> Robots. More workers are not necessary: science
and technology will continue to invent more machines-
robots to make products, fewer not more humans are
needed.

~ 2> Provide own retirement. Using machines-robots on
average each human can easily work enough to provide
their own “pension”, the products and resources which
are the real support of their retirement. -

130,000 years agc; Homo Sapiens begin
v X

130 120
thousands of years ago  w

-H+ rol_oot-

+R+P/H

" = 100 . % 80 70

< 1-product : 7
* v 2 workers OO

2 products
1 worker
y +maching .
A : " 4 robot present
. 7.5 billion

humans

f

.| Ube

o0 | &

.0 | R Ty e
‘m &de * 7,
=« Fewer humans, more robots - : N Ly
*;r' less work, moreJeisure, more *robot
- £ happiness, more security - : ¥
%,ﬁ 0 or 1 offsprjng + robots - ®* +R+P/H
“®  ®  {oraquality, happy life. f
)
All humans aspire to the * g
same global product-rich !
life. Fewer humans means 4
more products per huma
: H H:}; Be E |
Ne Na Mg o
230 years ago *
800£1illion humans
m— <)reSeNt

60 50 *40 30 20 10



—
-P SOLUTION. Regarding the “need” for
¥ products: humans can be taught to want
want-making - or NOT to want products:

- > 1 PRODUCT. Research shows that it is
ot the many products - of fashion, style
change - that brings the great, lasting
I pleasure it is the use of 1 product...
. | 4

oy



1 guitar
lasting,
|\ shared

To achieve -P, Produ::ts reduced, R,
Resources conserved: adopt the closed
mass finite system rule: whether the
Product is a guitar, a keyboard,
computer, clothing, whatever:

1 best Product, made to last, shared.

> Everything on the space station is
selected to last 30 years and more;

> Everything is shared, there are few to
no private possessions;

> Exclusive possession of Products is
NOT taught to be prestige or esteem.

L]

Product solution
make 1 best
that lasts (+time)
share it (+space)

.
i A
',r. 1 - r" Ly

[
g

m;ﬁ;—:‘k s

=’-.-§'
e

,.

- LIBRARIES

for
Everything -
clothing
appliances
equipment
transport...

1 spacestation
lasting, shared

1 keyboard
lasting,
shared
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Sy P 18est @ ", Productmaker’s Open Mass
snzicty self ' | Las{ing Qé Law: “Make Many, that
ne more Skared Don't Last & Aren't Shared”
new Row, |

“Most
Advanced” |

Ph B8 Load
Ul

“What Products Are You?”*

This is just one example of today’s
global proliferation of trillions of
Products. Appeals to “me, more,
new, now’, fashion, style, change
for profit’s sake result in deple-
tions of metals and other scarce
resources, which will leave little
to nothing for future generations. & .~

Open Mass CO
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40 yéa-rs
.. 4X more

products
2X more humans
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The Right to Development |
The Good Life \___’/

Setting standards of living -

1 American, 1 car

2 Europeans in 1 car

20 Chinese crammed into 1 car

90 Indians jammed into 1 car

60+ Africans slam packed into 1 car

Who is the great cause of climate change -

@® 20 Chinese, 50 Indians, 60+ Africans in 1 car?
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100% all-in Resource use 40 years ago

Electronics (¢))

40 YEARS AGO to NOW,
no all-in design, great all-in cost:
HOME, energy-using devices;
TRANSPORT, most produced, economy,
4 people + luggage, Mini-Fiesta.

@ () Heating "l\\
Q () Cooling O
S €D Washdry KI =
2 @ Lighting s ’7 =&
< AL '
@ MOtlon 1 Simplimty"ﬁ‘
1.000%*+ all-in Resource use now Complexty ‘:‘
+400%
UEE. ’7 ’7 ’7 ’7 , 600%
energy ¢ i oo
eeeee - .- °
F operation energy
= energy All-Sensory Comfort - e ot oeTa?c:(:n
" control smell with voice znergy

+200%
3 energy to
operate

o

Appliances

w0 O OCC

mass-energy to make-maintain
-50% Lifetime -400% Recyclability

activated perfume
dispensers

7

. T

L 0000 Eum

mass-energy to make-maintain
-35% Lifetime  -400% Recyclability






PRODUCTS
1970s NOW

Hardware: hinges

Materials: woods

Nothing inside or
out is made to last

¢ 0 l( 1
.L.ﬁ- |

simplicity

¥ o ;

1970s 'ﬁ now

5 R B S s 5 I o

i ""';ﬁt ‘w’-"

o

OPEN MASS

T —
= v -

R B —— =

GRUNDTAL FREDEM MAREN ORESUND
Toilet seat Toilet seat Tailet seat Tailet seat

$29.99 $19.99 $19.99  $19.99

i
N

-——
lrrrrt.f'__

=

e — =
-r..
1

#| GOLIAT HELMER Swwywwrr=’] GALANT AKURUM
drawer unit on Arsivar unit an " Base cabinet with Base cabinet with
castaers casters — e shelves shelves

$34.99 $39.99 $89.00 $102.00



World Trade Towers, UN Building - almost
all buildings - are not built to last, they
would have had to be taken down in about
20 years, or an amount equal to their cost
invested to kieep them standing.
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humans
happy? .

Above are the unchanged 130,000 '?
year old inherent human needs- e
wants-desires which must be satisfied e
or humans will not be happy or survive. ';'
L] - i e
130 120 110 10075% 90 80 70 60 50 * 40 30 20 10 fast 230 years

~ thousands of years ago = - _ Homo Sapiens timeline 130,000 years



1> NATURE: food, water, air, temper-
" * ature, prgssure - in other words, life,
Resources, the*earth, the planet_whi&\
@ humans absolutely rely upon, a planet
which thergfore makes humans very
happy, they owe it everything. =
--i------------------------------—-

' |
130 120 10 100 . 90 80 70 60 50 * 40 30 20 10 last 230 years*
thousands of years ago= : , Homo Sapiens timeline 130,000 years . .

A+=SO0OODO=T



= Homo Sapiens Report -

L]
2> HUMANS: humans need other humans cannot Survive alone, they - Y
humans to mate and to repraduce are sooml creatures, humans need, Family Hominidae e
(or there will be no more humans); want and desire other,humans. , 13 million years e
for security, for love and belonging - = o 4™ ':
- g <
130 120 110 100 90 80 70 60 50 * 40 Kl 2 10

thousands of years ago= : _ Homo Sapiens timeline 130,000 years . "



last 230 years*
Homo Sapiens timeline 130,000 years
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Most popular
feature film

HUNTER-GATHERERS
NATURE
ACTIVITIES

not products



humans activity | nature product

Serving overprotective parents since 1935
Chevrolet suburban, the original SUV
starting at $39,999



5 November




Day Recall Method

Enter in a diary the
activities of your day

Tuesday




*Happy: Positive
affect is the aver-
age of *happy,

-~ §§ friendly, warm,

enjoying myself”.

*Unhapppy: Neg-
ative affect is the
average of “frus-
trated/annoyed,
depressed/blue,
hassled/pushed
around, angry/
hostile, worried/
anxious, criticized/

M put down”.

Rank your act:v:t:es -
Happy-Unhappy

5 November
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RESULTS - activities that
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\ make me happy/unhappy: |

*Happy: Positive
affect is the aver-
age of “happy,
B friendly, warm,
-l enjoying myself’.

*Unhapppy: Neg-
ative affect is the
average of “frus-
trated/annoyed,
depressed/blue,
hassled/pushed
around, angry/
hostile, worried/

M anxious, criticized/
put down”.




*Happy: Positive
affect is the aver-
age of “happy,
friendly, warm,

-l enjoying myself”.

*Unhapppy: Neg-

ative affect is the
average of “frus-
trated/annoyed,
depressed/blue,
hassled/pushed
around, angry/
hostile, worried/
B anxious, criticized/
put down”.

RESULTS - activities that

\ make me happy/unhappy: |
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*Happy: Positive
affect is the aver-

age of “happy,
- N friendly, warm,
enjoying myself”.

*Unhapppy: Neg-
ative affect is the

average of “frus-
trated/annoyed,

depressed/blue,
hassled/pushed
around, angry/

hostile, worried/
- B anxious, criticized/
M put down”.

RESULTS - activities that

loooos  §

\ make me happy/unhappy:

Sk

preparing food

0 Se

Infimate relations - Sex
ASIEIS LN f
socializing
3@@@@ ﬁ
relaxing

phoning

nas
napping

FeTSIeN f
think-meditate-pray

1 RRE

RIS

taking care of children

Bass

eating computer-intgrnet
< 18888
BXercizing housework
oo i ARARAS
Watching TV-videos Working

<

f8aaa85

driving-commuting

shopping

Interaction with
Humans ranking:

w/ friends 99,

w/ relatives

w/ spouse/

significant other .

w/ children
w/ clients/customers |l
w/ co-workers
w/ boss
alone

Nature ranking:

w/ land sea air £2%,
w/ vegitation
w/ animals...

Products ranking:

w/ transporter
w/ shelter...




*Happy: Positive
affect is the aver-
age of “happy,
friendly, warm,
enjoying myself”.

*Unhapppy: Neg-
ative affect is the
average of “frus-
trated/annoyed,
depressed/blue,
hassled/pushed
around, angry/
hostile, worried/
anxious, criticized/
put down”.

o

humans

> H. sapiens - @l¥®
130,000 year old species

=} —1

—_— e ——

__-'ﬂ

activity nature product

Serving overprotective parents since 1935
Chevrolet suburban, the original SUV
starting at $35,999

~ 85555
‘| driving-commuting

Interaction with

Humans ranking:
w/ friends

w/ relatives

w/ spouse/
significant other

w/ children

w/ clients/customers
w/ co-workers

w/ boss

alone

Nature ranking:
w/ land sea air £2%,
w/ vegitation

w/ animals...

Products ranking:
w/ transporter
w/ shelter...







Life Begins Here™
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You are ugly, unloveg
and-inSeture - Dl

you buythi

humans™




Woodstock - not products -
peace & music

H. sapiens - 130,000 year old species
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el SO AT T U WCLOSED MASS .
S T ¥ i SR e Centenarlan,
B R ~“In one person 3
2 NERE AR o7 lifetime.
s R B R e the changes
b R s ',, - I have seen, .
L T SR and the lessons
s Lo .__ ! . tO be learned iy
‘ | Imaglne a'small
planet...-" _

100 years old
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A minature planet like Earth with hundreds,
not billions of people.
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i
Imagine a small planet lik
Earth where each person
has on average the same
land and resources as the
average human has toda
140 by 140 meters, 3 foo
ball fields; and like Eart
there are no imports tc
planet, no emigrations

b

S el
® N\
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s 3
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1 human, 3 foc



[ A minature Earth with hundreds, not billions of people.

“Only 89 years ago there were

just 200 people on our small

planet (Earth 2 billion),

PCERAN 42 years ago we had doubled
SUOARIANENY . | to 400 (Earth 4 billion) -

' in just a few years we will

have quadrupled to 800!’

BT

On Earth, it took humanity 130,000
to 2 billion, then only 96 years




“89 years ago there was so
much land, so many resources
for each person (274 by 274 square
meters of land, 11.5 football fields)
- and we were making very little
(16 product units) out of them.

“Today we have so few resources
(3 fields per person) and out of them
we are making and consuming so
much (an extraordinary

1 Human

220 product units)! ::::::::::

“Thi J 19 T e P e

This can’t go on! i e B B
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Closed Mass paradigm shift

“We live in a closed mass
system, we are running out of
everything, we will end with no
quality life, no happiness for
anyone, the solution is simple:

“We do not need to keep growing,

we have machines - robots - to do jobs, we
need less people, and only the best products
(using fewer resources, minimum mass and
energy), products that last and are shared
(maximizing time and space which costs nothing).

“We need a hyper library lending everything -
the best, lasting products shared - and reduce
our market to a mini, selling the least.”

Products including robots
1 BEST LASTING SHARED

r HYPER 1 baby
LIBRARY .
for I ] I *

A

everything
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Reality: CLOSED MASS

no infinity,

no imports,

no emigrations,
entropy, etc.

United Nations Sustainable Development

v “By 2050, the equivalent of almost could
be required to provide the natural resources needed
to sustain current lifestyles” - 1970: 1 planet.

~ e

Health &
well-being -
Climate
action

Products
- robots:
- 1, best,
,—_—.ﬁ lasting,
tagi shared;
1 baby



Our Pl:
5,000 year:
so our Laws
closed mass:

1. Don’t make Prc
Babies (closed mass: e

'%ur planet laws

2. If you must, make o
the best (minimize mass-ene
use) that lasts (maximize ti
and is shared maximize spa

What laws will you make
for your planet?...
.

?

@ b y»'f"?

L

AV)/T2AQ/T






: ‘ . :-——t. '
; e\ | , N
\ M-"e"'; v (1..3—-' A

n & WAET
co- i...e".";-?.mow,1“be.st I.astmg s




J * Inthe immortal words of the'last émigrarit -— ",

" Let’s get this mother outta here:

¥
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| "“‘,’2 Illaob

CLOSED MASS

me. “_".‘r:: :::‘;v oW

1 best lasting shared, i
~ ‘ban emlttlng energy, -
make love & robots :
not bables'
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